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1	 Carbon monoxide is a toxic, colourless and odourless gas. Industrially, it is used to 
extract metals from their ores.

	 (a)	 In the laboratory, carbon monoxide can be made as shown in the apparatus 
below. Carbon dioxide is generated and passed over heated charcoal.

calcium 
carbonate

lumps of 
charcoal

sodium 
hydroxide 
solution

dilute 
hydrochloric 
acid

   
heat

carbon 
monoxide

water

		  (i)	 Describe what is observed on addition of dilute hydrochloric acid to calcium 
carbonate.

[1]

		  (ii)	 Explain, using oxidation numbers, why charcoal can be described as a 
reducing agent, in the equation below.

		  CO2  +  C →  2CO

[2]

		  (iii)	Using both collision theory and the concept of activation energy, explain how 
heating the charcoal will increase the rate of reaction.

[2]
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		  (iv)	Suggest one reason why not all of the carbon dioxide reacts when passed 
over heated charcoal.

[1]

		  (v)	 Unreacted carbon dioxide is removed by reacting it with aqueous sodium 
hydroxide, to form sodium carbonate and water. Write the equation for this 
reaction.

[1]

		  (vi)	Describe a test to identify the presence of carbonate ions in the aqueous 
solution.

[3]

	 (b)	 Carbon monoxide is used to extract iron from iron(III) oxide.

		  Fe2O3  +  3CO →  2Fe  +  3CO2

		  100 kg of iron(III) oxide was heated with 56 kg of carbon monoxide. Calculate the 
maximum mass, in kilograms, of iron produced.

[3]
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	 (c)	 Carbon monoxide can be used to synthesise methanol as shown in the equation 
below.

		  CO(g)  +  2H2(g) ⇌  CH3OH(g)  −91 kJ 

		  (i)	 State the effect of increasing temperature on the yield of methanol.

[1]
 

		  (ii)	 State the effect of increasing the pressure on the yield of methanol.

[1]

	 (d)	 The apparatus below can be used to determine the enthalpy of combustion of 
methanol. 100 g of water was placed in the copper can.

copper can

º
C

thermometer

water

spirit burner

methanol

		  The following results were obtained.

mass of spirit burner and methanol before burning / g 20.33

mass of spirit burner and methanol after burning / g 18.92

initial temperature of water / °C 17.5

maximum temperature reached by water / °C 88.0
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		  (i)	 Why is the water stirred throughout this experiment?

[1]

		  (ii)	 State two ways in which the apparatus could be improved to reduce  
heat loss.

[2]

		  (iii)	Temperature is measured using a thermometer that has graduation marks at 
every 1 °C. The error for each temperature reading is ± 0.5 °C. Calculate the 
percentage error associated with the temperature change in the results 
obtained.

[2]

		  (iv)	Using the results obtained, calculate the enthalpy of combustion of methanol.

[3]

		  (v)	 At the end of the experiment a black solid is seen coating the bottom of the 
copper can. Name this solid and explain how it is formed. 

[2]

		  (vi)	Explain, in terms of bonds, why the standard enthalpy of combustion of 
ethanol is greater than that of methanol.

[1]
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2	 Dry chlorine gas can be prepared by reacting hot concentrated sulfuric acid with a 
mixture of sodium chloride and manganese(IV) oxide (MnO2). 

heat

manganese(IV) 
oxide and 
sodium chloride

chlorine gas

concentrated 
sulfuric acid

water concentrated 
sulfuric acid

	 (a)	 (i)	 In the first stage of the reaction the concentrated sulfuric acid reacts with 
sodium chloride to form hydrogen chloride gas. Write the equation for this 
reaction.

[1]

		  (ii)	 In the second stage the hydrogen chloride gas is oxidised by 
manganese(IV) oxide to form chlorine gas. Manganese(II) chloride and 
water are also formed. Write the equation for this reaction.

[2]

		  (iii)	The chlorine gas produced in the round bottomed flask contains unreacted 
hydrogen chloride. How is this hydrogen chloride removed in the apparatus 
shown above?

[1]
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		  (iv)	The chlorine gas is collected by downward delivery. Suggest why chlorine is 
collected in this way.

[1]

		  (v)	 Describe the test that confirms the presence of chlorine gas.

[2]

	 (b)	 Chlorine can also be prepared by the reaction of sodium chlorate(I) with 
hydrochloric acid.

		  NaClO  +  2HCl →  NaCl  +  Cl2  +  H2O

		  (i)	 1 cm3 of dilute hydrochloric acid is added to concentrated sodium chlorate(I) 
solution in a test tube. Explain why the solution turns pale green.

[1]

		  (ii)	 Outline a practical test that would confirm the presence of chloride ions in 
the reaction mixture.

[2]
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	 (c)	 1 cm3 of hexane (density = 0.65 g cm−3) was added to 10 cm3 of a concentrated 
aqueous solution of chlorine in a test tube. 

		  (i)	 What will be observed in the test tube to show that hexane and the aqueous 
solution are immiscible?

[1]

		  (ii)	 The test tube is then stoppered and shaken and the contents allowed to 
settle. Suggest what is observed.

[1]

		  (iii)	The test tube is then placed under an ultraviolet light and removed after a 
period of time. Suggest what would be observed in the test tube. 

[1]

		  (iv)	Name the piece of apparatus that could be used to separate the organic 
layer from the aqueous layer.

[1]
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	 (d)	 On reaction of 9.75 g of hexane with an excess of chlorine, in the presence of 
ultraviolet light, a mixture of products was formed including a chlorinated 
hydrocarbon X; 32.2 % of the mass of X is carbon and 4.5 % is hydrogen. 

		  (i)	 Deduce the empirical formula of compound X. 

[3]

		  (ii)	 The mass of compound X obtained was 2.54 g. Given that the percentage 
yield is 10 %, calculate the relative molecular mass of X.

[3]

		  (iii)	Deduce the molecular formula of compound X.

[1]

		  (iv)	Explain why the reaction of hexane with an excess of chlorine produces a 
mixture of chlorinated hydrocarbons.

[1]
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3	 Cyclohexanone is manufactured on a large scale for the production of nylon. In the 
laboratory it can be prepared by refluxing cyclohexanol with concentrated sulfuric 
acid and excess sodium dichromate(VI). The mixture is then fractionally distilled.  
The crude distillate is a mixture of cyclohexanone and water.

cyclohexanol cyclohexanone

OH O

[O]
+    H2O

boiling point / °C density / g cm−3 RMM

cyclohexanol 161 0.96 100

cyclohexanone 156 0.95 98

		  (a)	 Define the term reflux.

[1]

		  (b)	 Outline a procedure which could be carried out to obtain a dry sample of 
cyclohexanone from the crude distillate.

[2]
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		  (c)	 The oxidation of 20 cm3 of cyclohexanol yielded 15 cm3 of cyclohexanone. 
Calculate the percentage yield of cyclohexanone.

[3]

		  (d)	 State why the oxidation of cyclohexanol did not produce a carboxylic acid.

[1]

THIS IS THE END OF THE QUESTION PAPER
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General Information
1 tonne = 106 g
1 metre = 109nm
One mole of any gas at 293K and a pressure of 1 atmosphere (105Pa) occupies a volume of 24 dm3

Avogadro Constant = 6.02 × 1023 mol–1
Planck Constant = 6.63 × 10–34 Js
Specific Heat Capacity of water = 4.2 J g–1K–1

Speed of Light = 3 × 108 ms–1

Characteristic absorptions in IR spectroscopy

Wavenumber/cm–1 Bond Compound

550–850 C–X (X = Cl, Br, I) Haloalkanes
spuorglykla,senaklAC–C0011–057

sdicacilyxobrac,sretse,slohoclAO–C0031–0001
1450–1650 C ̿ senerAC
1600–1700 C ̿ seneklAC
1650–1800 C ̿ ,sedyhedla,sretse,sdicacilyxobraCO

sedirolhclyca,sedima,senotek
2200–2300 C selirtiNN

sdicacilyxobraCH–O0023–0052
sedyhedlAH–C0582–0572

senera,senekla,spuorglykla,senaklAH–C0003–0582
slohoclAH–O0063–0023

sedima,senimAH–N0053–0033

Proton Chemical Shifts in Nuclear Magnetic Resonance Spectroscopy
(relative to TMS)

Structure

0.5–2.0 –CH senakladetarutaS
0.5–5.5 –OH slohoclA
1.0–3.0 –NH senimA
2.0–3.0 –CO–CH Ketones

C–N– H Amines
C6H5–CH c on ring)

2.0–4.0 X–CH X = Cl or Br (3.0–4.0)
)0.3–0.2(I=X

4.5–6.0 –C ̿ CH Alkenes
5.5–8.5 RCONH Amides
6.0–8.0 –C6H5 Arenes (on ring)
9.0–10.0 –CHO Aldehydes
10.0–12.0 –COOH Carboxylic acids

on and temperature dependent and may be outside
the ranges indicated above.
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THE PERIODIC TABLE OF ELEMENTS
Group

*

†

1

1

1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18

III III IV VI VII 0V

285

112
Copernicium

* 58 – 71 Lanthanum series
† 90 – 103 Actinium series

a = relative atomic mass

x = atomic symbol
b = atomic number

a

b
x (approx)


